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3. (0,0015)*(6000)* =2
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X+4=y
Y+5=2
z +x =7k

X+y+z=21

k=7
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41,0003

E ) 410,003
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B) 64

C) -

D) &
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x>0
0 =
(1-x)*=17

(b+b+b+b)a-a-a-a)=16

1/2 3
b "a” =7
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D)1l

E) 110

12.
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13.
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x—1
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D) x+2

E)
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2x
x+4
14 .
A) 13x - 10
B) 2X—1
C) 15x — 8
D)lﬁx—li
15.
3
A) (log,3)°
B)
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log; 25

log. 2
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2log ; 2

C)

|

D)

| b2

2
E) 3(og ; 2)

log, 8 log (/9% _
log,3 log,(1/2)

16 .

log . 4
A) log .3

B)3

c) -4

D) 6

E)
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B e e e
17.

P(2)=0

a1 —2

B) —2

D)4

f(x) =x*-2mx +8
18. ﬂxl}zf(xz}zﬂ

i oy
N e B R W

A)
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D)20
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E) 1

XEE{J&I

20 . Im ——=?
=0 gin 2x

A)

ba | =
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D)

| =

E)

k2|

f(x)=3(sin *3x)?

21. P T
3
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A)

C) 25
273

D) 33

E) 54.3

22.

A) 1+e

p)h3

c) 1
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£1(0)=2

1
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Index
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D)

E) ¢

’ .
' 1(11+2)3
1
A)_E
1
B) 13
1
C) 1
1
D) E
1
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B)
C)
E)

25.

' Inx—xhlhx+c

17

4S5 )3 Jreand - ol Gales Jys e
Index

Z(3n+p):?

n=0

A)459—.13p
B) 462 +17p
C) 4+p
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D)
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E) 462 +18p
26 .
A)*\if
B) 1—5"'..I'r§i
C) 5545
D)—s—ﬂmﬁi
E) 5+6+/5i
27.
A)
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sin2x
28. i aih RN
1+cos2x

sin X

A)

B) cosx

C) Zsinx

D)
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Sifl X COSX

E) tan x

29.

N 0
A)l1 1

30.

www.kunibeyos.com/ornek_sinav/

Index

—sinX cosx
A= ;
cCosXx sinx

M=smn 2x
N=rcos2x
-,
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FiiT
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g o | SR

2 =3
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A 5 E
aj
ﬁ\f
e g D E
ABCD bir vamuktur ( ABCD is a trapezium )
|AB|:5+::|:|:L =|C[}|:8+::|:|:1
A(ABCD) = ? 3 cm?
m(BDE) =x° =7
A) 120
B) 135
C) 150
D) 155
E) 160
2.

www.kunibeyos.com/ornek_sinav/
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A)20

B) 40

C)ﬁ[]

£

E)SD

www.kunibeyos.com/ornek_sinav/

Index

O cemberin merkezidir .
(O is the center of circle)

m(ADB) = 70°

m(CEB)+ m(CAB) = ?

www.tehranmetropol.ir
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C

45 50 dpant - ol Calas Jys e
Index

ABC bir aiggendir. (ABC is a triangle. )
|I}B|=4 c:r:u|AE|= 6 cm

A(ABC) = ? cm?

A) 12

B) ]"'\."g

E) 3.2

www.kunibeyos.com/ornek_sinav/
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Ayl
2

B) 3

1

C)E

3

D)3

3

E) 3

5.

www.kunibeyos.com/ornek_sinav/

A(-3.10)

45 50 dpant - ol Calas Jys e

&y

Index

tan ct

B{4.-4)
o dodgrusu {line dj
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G
A B
- E
D I c
0. cemberin merkezidir
(O s the center of circle)
|AB|=[BC|=|CD|= DA[=12 cm
[BE| = [EC|. |AG|=|GB|.[FE|=2 em
Taral1 alan kag cm? dir?
(What is the shaded areain cm’ 7)
A)36-8m
B) 49-m
C) 144 -8m
D) 144 -3in
E) 18—4mn

www.kunibeyos.com/ornek_sinav/
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2) Mantik

Mantik

Asagdaldi sekillerden hangisi belirgin bir dzelligi
ile digerlerinden farkhdir?

Which of following figures iz different from others
in view of certain property?

A)

.

oL/

es!
N
/

Asagdalkd sekillerden hangisi belirgin bir dzelligi
ile digerlerinden farkhdir?

2. Which of following figures is different from others
mn view of certain property?

B)
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g
&
$o%]

Asagdald sekillerden hangisi belirgin bir dzelligi
ile digerlerinden farkhdar?

3. Which of following figures is different from others
in view of certain property?

A)

B ) I; W )|'

N _\_\_\_'_'_'_d./
-
Pl
ll.-" ,-’r \\1 h!
C) 1 .f'f -1\. lll
| / .
-
S
f’j K“
/ Ay
\'.
LY
D) / \
LY
/-.'f
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lf//-"" e ‘_\'I.r ,-"_'-"'\-\.\

E) | L)
Y ' T
N4

4.

[ O "

A ) P "

www.kunibeyos.com/ornek_sinav/

4S5 )3 Jreand - ol Gales Jys e
Index

Belirlenen iliskiye gire soru isareti verine
hangi seklin gelecegini bulunuz.

Find the figure which comrespondsto the
place ndicated by the question mark
accordance with the relationship established.

.-""f
e
~
B
1™,
o\ ‘
=
\‘-\.
\
A L
.""'H-..\_\_. 111
%
m —
-, Q] - ?
I "_'.J"ﬂ- T g
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Sekilde kac iicgen vardir?
How many tnangles are there in the figure?

5.
A)5
B)©
C) 8
D) 9
E) 10

6.

www.kunibeyos.com/ornek_sinav/ 30/60
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A) -8
B) -1
C) 2
D) s
E) 13

7.

www.kunibeyos.com/ornek_sinav/

Index
x=2=y=3wvez=7T
x=6=y=1lvez=19
x=-1—y=J3vez=-2
xile ¥y ve x ilez arasinda bir iliskd vardir.
Buna gire,

There iz arelationship of x with v and x with
z. 5o,

x=l=y+z="7

www.tehranmetropol.ir
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www.kunibeyos.com/ornek_sinav/

Index

Belirlenen iliskive gire soru isareti yerine
hangi seklin gelecegini bulunuz.

Find the figure which comespondsto the
place indicated by the question mark in

accordance with the relationship established.

| =

N P N

www.tehranmetropol.ir
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3|9 (12124
2|7 (14|13 |6
Ble |7 |27
51712139
Soru isareti ile belirtilen vere hangi sayimn
gelecegini bulunuz.
Find the number which comresponds to the
placeindicated by the question mark.
A) -6
B) #
C)?
D) 14
E) 21
2 23 27T 77 1L1L 10
9 Soru isaret ile belirtilen vere hangi sayimun
) gelecegini bulunuz.
Find the mumber which corresponds to the
placeindicated by the question mark.
A)S

www.kunibeyos.com/ornek_sinav/

www.tehranmetropol.ir
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B)

C) 9

D) 10

E) 12

10.

A)l'.'r

B) 28

C)39

D)

www.kunibeyos.com/ornek_sinav/

Index

N7 B 4 140 21 9 8 2 W

Soru isareti ile belirtilen yere hangi sayiun
gelecegini bulunuz.
Find the number which comresponds to the

place ndicated by the question mark.

www.tehranmetropol.ir
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40

E) 51

11. 4,6,9,6,14,6,7

A)®

B) 11

C)1s

D)z1

E) 4

12
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A) 7
B) 10
C) 14
D) 17
E) 21
13.

www.kunibeyos.com/ornek_sinav/

48 550 Jraad - 3l Gl Ja g e

Index
16 3 5
11 T
2
1 12 22
10 7
6

Soru isareti ile belirtilen yere hangi sayimn

gelecegini bulunuz.

Find the number which corresponds to the place
mndicated by the questionmark.

www.tehranmetropol.ir
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EATENDUR =95630271

3796610572="

A) EUELLENATD

B) EUERENLATUD

C) EUKLFRAUDN

D) EUELLEDAUN

E) EUENNREAUN

14 .
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Soru isareti ile belirtilen yvere hangi sayimn
gelecegini bulunuz.

Find the number which corresponds to the place
mdicated by the questionmark.

A) 14

B)l_.l"

C)ED

D) 23

E) 32

15.

www.kunibeyos.com/ornek_sinav/ 38/60
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18
1 2

i
( 48

Soru isareti ile belirtilen yere hangi sayimn
gelecegini bulunuz.

Find the number which comresponds to the place
mdicated by the questionmark.

A) 29

B) 34

C) 40

D) 58

E) 84

16 .

www.kunibeyos.com/ornek_sinav/ 39/60
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A) uuivt

B) niulvt

C) uiviv

D) uvig?

i A
E) uvu

17.

A) 2811

B)

www.kunibeyos.com/ornek_sinav/

Index

X Ay = xtyl

uA(VAu)=7?

2056 1445

5353H 815

0271M 1014

7549 1620

T238W 7

N sembolii ile belirlenen iliskive gire;
soru isaretiile belirtilen yere hangi sayimin
gelecegini bulunuz.

In accordance with the relationship N
Find the number which comesponds to the
placeindicated by the question marlk.

www.tehranmetropol.ir
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156
=
C) 1032
D) 8437
E) 438

O 6| ™| b | w|*| s @

B O | w|®| = |0 ¢4

* - nﬁc -~ . - ‘ -

K S| o 0O w|d|é|w

* & % | = |% |6 | @90

AR RE AR SR AEIE 2"

L IE IR AREE IR A% AKX

18. /\

I i
X | v | v |z
x| v T

I veIl, yukardald tablonun farkh birer
parcasidir. Buna gire Z ve T'nin yerine
asagidakilerden hangisi gelmelidir?

I and I are different parts ofthe figure above.
Accordimgly, which of the following
combinations shouldreplace Z and T n 117

[

#* =

A) T

B)

www.kunibeyos.com/ornek_sinav/ 41/60
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Fi T
L] -
Fd T
C)
£ T
D) * *
Fi T
¢ Om O/ O ®m OO
O/ o0 ® @ |+ |00
O @@ O =m0+ | =
" 0o @ @l0|@®|0
o|lo/O0Om | @ +|0
Cle|®|O0|®@|/O|0| O
4 'm0 @|0O|0| @
@ 0/ @& O+ O *« =
19. X
I I
A B | A |
@|8 |alr
A
I veIl, yukardald tablonun farkh birer
parcasidir. Buna gire R'nin yerine
asagrdakilerden hangisi gelmelidir?
I and IT are different parts ofthe figure above.
Accordingly, which of the following
combinations shouldreplace B in II7
R
A)T O

www.kunibeyos.com/ornek_sinav/ 42/60
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B)
R
§
o ANaY
C) o
. il
D) ®
R
E) 5= o= —=
@
20 .
A) 8421
B)

www.kunibeyos.com/ornek_sinav/

Index

L gruptaki sézciiklerin harfleri

birer rakamla gisterilerek IT. gruptaki
sayllar elde edilmistir. Soru isaretiyle
belirtilen sézeiigin hangi sayiyvla
gisterildigini bulunuz.

The numbersin group II stand for the words in
group I, when eachletter hasbeen codedwath a
specific numeral Find the numberwhich
comresponds to the word indicated

bv the question mark.

SETA 6129

CASI 59374

2383

DETC 7123
KITE="?

www.tehranmetropol.ir
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1253
C) 2164
D) 6534
E) 4653
21 .
A)
B)

www.kunibeyos.com/ornek_sinav/

Index

Belirlenen iliskiye gire soru isareti verine
hangi seklin gelecegini bulunuz.

Find the figure which comespondsto the place
mdicated by the questionmark in accordance with
the relationship established.

ﬁ_}

—_— 7

www.tehranmetropol.ir
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C)

D)

E)

YU L€«

Belirlenen iliskiye gire soru isareti verine
hangi seklin gelecegini bulunuz.

Find the figure which comespondsto the
place indicated by the question mark n
accordance with the relationship established.

2. = 'a} Fﬁ’ﬁ“& d@f@ﬂ%\\
o |

ﬁ«a S ) e R B

p T o J_.':f‘.
/'E:I 'Q_j O‘\Q}\ -7\
@ "II '|.I —_— g.
(RN | Fi ! | P |
I @

A)

B)

C)

www.kunibeyos.com/ornek_sinav/ 45/60
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D)

E)

23.

A)2

B) 3

c)*

D)

www.kunibeyos.com/ornek_sinav/

Index

O | @D =]+
o

3B

Yukaridaki toplama tablosunda A, Bve C
harfleri birer pozitif sayimin yerine
kullamlmistir. Buna gire B kacar?

Inthe addition table above, the letter A, B, and C
each stand fora positive mumber. Accordingly,
whatis the value of B.

www.tehranmetropol.ir
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’
E) 6
24 .
A) |
B) :t:
C) *
D) |
E) I
&

www.kunibeyos.com/ornek_sinav/

Index

Belirlenen iliskiye gire soru isareti verine
hangi seklin gelecegini bulunuz.

Find the figure which comespondsto the place
mdicated by the questionmarkn accordance with
the relationship established.

www.tehranmetropol.ir
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25.
A) 23
B) 5/8
C) 19/32
D) 7/32
E) 316
26 .

www.kunibeyos.com/ornek_sinav/

Index

Belirlenen iliskive gire soru isareti yerine
hangi seklin gelecegini bulunuz.

Find the fisure which comespondsto the
placeindicated by the question markin

accordance with the relationship established.

— 23/32

www.tehranmetropol.ir

48/60



telegram & instagram: @tehranmetropol 4S5 3 et - AU Caalas g5 i
4/6/2019 Index
Belirlenen iligkive gdre soru igareti yerine
hangi seklin gelecedini bulunuz.
Find the figure which comrespondsto the
placeindicated by the question mark in
accordance with the relationship established.
<4 -1 - | | >
L
&
a :
A) Wh
B) ’ ;
C) . "
D) ‘
E) vav_,
27.

www.kunibeyos.com/ornek_sinav/
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Sekildeki kOpln kapah hali hangisidir?
What does the resulting cube look like if you
fold this cube together?

&

G

m| (@
")
O |
">
D) 6"’
0| (D)
Azaqidakilerden hangisi farklidir?
28. which figure is not like the other?
Ay 5
B)
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D)

29.

s

A)_
_'_H_I_'“.

B) |®|
.

C) = 0
O !H_
o

D) |
_|=
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30.

A)MM

B)MMM

C ) MMMM

MMMMM

E)
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31.
A)
B) 0
C) 2
D) 2
E) ¢4
32.

A)
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3_4
—®— =Xy -2%x+3y -6
i 3y

be2="?

arb=a-b+2
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| =

B)

33.

A) 28

B) 29

www.kunibeyos.com/ornek_sinav/

Index

How many sguares are there in the figure?
Sekilde kac kip vardir.
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30

D)31

E) 33

34.

A)E?

B)SE

C)EE

82
D)

E)

www.kunibeyos.com/ornek_sinav/

What number should replace the question mark?
Soru isaretinin yerine hangi sayr gelmelidir?

18

105

45 50 dpant - ol Calas Jys e
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35.
A) 11
B) 20
C) 2
D) 34
E) 35
36 .
A)

www.kunibeyos.com/ornek_sinav/

What number should replace the question mark?
Soru isaretinin yernne hanagi sayi gelmelidir?

TN/

4317

STAGZ
31435
43472
23444

4S5 )3 Jreand - ol Gales Jys e
Index
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20

B)31

40

C)

D)EE

E)EE

37.

A) il

B)?EI

C)BS

D)

www.kunibeyos.com/ornek_sinav/
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99

E) 103

38.

A)

B) 11

D) 30

E) 16

39.

www.kunibeyos.com/ornek_sinav/

4S5 )3 Jreand - ol Gales Jys e

578¥
31T¥
422'F
235%

41
10
10
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Sekildeki kilptn kapall hali hangisidir?
What does the resulting cube look like if you
fold this cube together?

&

(@
[
(@
[

40 .
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A)
//f{
B) 3
C)
D) [ =
E) '

www.kunibeyos.com/ornek_sinav/

Index

Asadida verilen sekil serisinde seriyi
tamamlayacak sekil hangisidir?

Which of the figures above the line of drawings
best completes the senes?

%
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